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amyewid (R) : @GwensE epusdiluen g oedsEn 68 wrHonTed eesm Gluwim Glum.
(A) (A) &fl gpemmed (R) seup

(B) (A) soupy spemmed (R) &l

(©) (A) &l syevmev (R) erevtugy (A) @il efensaiemmy

(D) (A) opgi> (R) Brem@i> seupy

(E) New Qzflwefevenso

‘@efll LTEBRBL Bevemed LTOBISHE QTN FHGHHLD PeVeney’ WTeDT WITT LTI ?
(A) @Gar_un_ (& GCareongenens srsenasll Limgeslumm

(B) sidlwinenen eememeu

(C) sfevenr QeusnefleSElwimt

(D) umflepwis LmewsTi 6R(HEUT

(E) v Qafwelevenso

LPRISNHSTeVS SHedlssr Qelwl LWaTLOSSILL L. SHE6ET 6T6n6u?
(A) wenevl_ (B) Gnmevlr_
(C) @eunm_engl_ (D) qrmienLs&

(E) New Qaflwefevenso

&7 aflewsliug Qerthaener & CQawis

(A) Qzafley, gimer, srem, sHemen (B) semen, snemw, giser, Cgefley
(C) srevw, semen, Czafley, giser (D) =6, Qzafla), semer, srenl
(E) New Qaflwelevenso

CeunsClgmsveney Ggfle) QFw : eiquw

(A) gigemein (B) 9@

(€) ebgeo (D) g9

(E) New Qzflwefevenso

Qemaener URIGUOSS CEmODIL_TI&EEsen

(A) o8 sreflwblen eresstemTiL(Heug) au_Glwmulled aureoSd] @rmomuewtid
(B) su_Qumflufled eumeoiSdl @rmomuentid oudl sreflwiGlver sresstemTLiLI(HoUG)
(C) su_Qumflufled oydlareluwCloes stevmremviiLi(Peug eureollsl Gpmomuiessrid
(D) sreflwlwen erevremstiiLi(Deug euL_Gwmlufed oud) eumediSel @rmomuessrid
(E) New Qafweleveneo

“99 EVTHEN6N” GIGMETBIL BTV WINg)?
(A) @dlepdluun_® (B) uligesiiuimenev

(©) HmpupmarmniiLen (D) Qur@mrmmmiiLent
(E) New Qzflwefevenso
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63.

64.

65.

66.

67.

68.

69.

T0.

“@nISHTENT 6sTs emeuwnGr” - Qs56gn_fe “EnISsT” eeaTLses Qevssemts @GNILL].
(A) wpnOD&sD (B) @gmfipeuwir

(C) Nlewesmwimevenewstujd Cluwi (D) eflemenQuéean

(E) New Qzflwelevenso

wrhenLw Sdleyenriitig ySlenmullid wenllGuoaamed (paesi(pseden KNeamaeGupbmmet?
(A) seayblugast (B) wrgel

(C) simeustrTouIg &6 (D) sevtesodl

(E) New Qzflwefevenso

2l.uwy.Gurl Qzn@ss mreSes Quwi

(A) sevbusid (B) smeusyniies seobLISD

(C) sgwuwremey (D) s8lpslawin seobusD
(E) v Qzflwelevenso

SMeuDHDE SMEGE SMHel ClFmIeuTTsEL0

2 enenflés eonam yrever  QE@GDLILTN6D DO 6T6TLIGE GILIMBET Wwirg)?
(A) g (B) sufley

(C) 2_ewremio (D) &g

(E) New Qzflwelevenso

LDEI(LPEND SHEVTL QUTESHID 6165 HITeWeV eT(Lpdlwieui

(A) @rmweStug 9jqsermi (B) mrwsse sellepi QrmoeSlhisestmi
(C) seerCrmy eunenflgrgess (D) 2_euemws sellghi &rsm

(E) New Qzfwelevenso

SSsTSST 616 Jjewp&sLILIbILIeUT?

(A) euemempeui (B) 2_.Ceau.&m

(C) euemmemeomt (D) wempioemeowiig &6
(E) eflew QzMwelleveneo

NS 0ls g5

mestaewtlui

(A) mevig + iewflui (B) meor + yemflwi
(C) mresig + ewflwi (D) pevi + semflwi

(E) New Qzflweleveneo

‘@G @ mHeuCer Coeuesr - eestLg ehETENET LaDO&GSS QGmi

(A) CGazeumrid (B) Smeunsaid

(©) SHmwiSlro (D) mreomilrg HeueNwiSlrumbgn
(E) New Qzflwefevenso
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T1.

T2.

3.

T4.

75.

76.

TT.

78.

79.

LS50 2.67.6760 sTLLA

Srflesit SPSHlenss sallg HIVSD eOHSI6TT LD
(A) Qasmenest (B) waiemr
(C) Asbumd (D) sepeme
(E) New Qzflwelevenso

Wesreupd Cam_feister Blspare elemempnenns Csiea| Claws?
(A) uss Lpw (B) ups@n upd
(C) uppsdlemg) (D) Lpruset LSS 60T
(E) New Qzflwefevenso

SBSINGET 65 WSSSHE SMibs SIel?

(A) swams giped (B) Quengss giped
(C) @eveomBuwg gmed (D) engeu gime
(E) v Qzflwelevenso

BM&Ese SHellEhHaHE “LsbLpasenr” elhg aupndls Aplllssg wmi?
(A) p(euewtys: (B) wrflev gyra

(C) symidlev oyya (D) NQrepa sira

(E) New Qzflwelevenso

TN [T R RmFOWS GlSTeuTL_g)
(A) Qeliueo (B) sis6u60
(C) ammseo (D) glemenev

(E) v Qg flwelevenso

umbifeness upifl oyt 1 1G5 - 2 esiment LSSleflwriseners LfSgsaT LGS eresrs Lmquw SGg T

(A) Gaemmwi (B) umbumiq& Agsi
(C) Gurnenr (D) s@Qeueflgdsgin
(E) New Qzflwelevenso

“Crmi&@ WHhe DesHWD” eTeom)| Fnplueur ?

(A) 2-.Geu. emblprgm (B) warelggieuren Sestm_& &marn Metenen
(C) wempemeLWIgE6T (D) seflwenfl Cafla elpmun Keremen

(E) v Qg flwelevenso

SN4CammIb Bret(E Fisemer CUHMI euHeug

(a) @emg. (b) Absig
(c) @mig601q (d) Cririg
(A) c B) d
(€) a (D) b

(E) New Qzflwefevenso

‘2 a1 Gungiwenn’ erasTiGUIHDLILIOIL HITEO 6187
(A) Sflas@asbd (B) Hmeusemeuipmeney

13
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(©) Hma@met (D) HmeNememum_pLyyreserid
(E) New Qzflwelevenso

80. ‘EHTEVISHGHETTTEUTTNG” 6T63TN FLOWI BIEDEV 6T(LPSUIGUT WImi?
(A) eSywnpesfleur (B) ameo(mGleuev
(C) Gum (D) Geug mmwsd LS6memen

(E) New Qzflwelevenso

81. QunmBHETS CBT_cOrs SHevurL_ls.
(A) @PIBs Wpuumi eN@EWw (B) doliQumpsst @esims Glas®dIb
(©) g LU@LIS sHBS (D) Qgeveusgis LwGer mrge0

(E) New Qzflwelevenso

82, e LoedTevT6nT WNEnesTSsL_GFl LOTHSTED e
(A) Gsry (B) Gemyp
(C) uneoriqus (D) weveveu

(E) eflew Qzfwellevenso

83. Qunmer Hms.
FgITRIsFCFem6s
(A) wremerrs LewL (B) @dlewr uenL
(C) Caia LewL (D) mreveusnaLs LiemL

(E) New Qg flwelevenso

84. “2_sudliedletr LBIGHEHHGD SwNEHIMID BHIHST” ‘SL_Bi@ eenegd Counsblgmeoeden eflement
e5g5ms CoHHE 61(1pSIs
(A) o_rudlestest (B) o_mdl
(©O) g_mdlw (D) o_rmdlweur

(E) New Qzflwefevenso

85. QurmCemm(p CunmGSones elenerienw Qemewsias :

(a) amevry 1. euewertigTesT

(b) spemev 2. Qamugnest

(c) umemest 3. (pevL_h e

(d) Comami 4. Geulimbgmest

@ b (© @

(A) 4 3 1 2

(B) 4 3 2 1

(C) 3 4 1 2

(D) 3 4 2 1

(E) ew Qaflwefevenso
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86.

87.

88.

89.

90.

91.

92.

LS50 2.67.6760 sTLLA

‘2 &AGLDH Leveur Glaner stenn ewL_Glombluined @GnlesiuLeut

(I) QgreosmiSlwir (ID) @euir smiGwb LeLGgeun
(III) Reurr @ 2 eoqwrdfwi (IV) medlesmisdlesfluin

(A) I, Il sflwreseneu (B) Ib, IIIib sflwresreneu

(O) ILIIL IV epetrmyGuo & (D) I, IV sflwreseneu

(E) eflev QzfMwellevenso

wenflGaeneoullsst Gampl

(A) smw sevrTigens (B) £e9
(C) meow (D) &g
(E) New Qzflwelevenso

‘DRAVIDIAN FEDERATION’ stetteniid oymidled Qgen bLsSlw sidlpmlepit
(A) 4. Qevs@eussmi (B) Ge.611d. mevevmamBlLiSlememen
(C) wemmemevwilg &6 (D) &m.eN.seowneswrabsrevti
(E) eflev Qzfwellevenso

HSSSemewstulles Liewm 6157

(A) Ggmeser_sLd (B) wesrpipm

(©) ey Cam_uenm (D) Setr Cam_uienm
(E) New Qaflwefevenso

‘amblilene Quingg wLLiSly’ wri?

(A) Femg (B) unepemed
(C) siss6mev (D) wizreny
(E) New Qafweleveneo

esreumeueteunenmLl ClLimmhs)s:

(a) @ueoum (@ 1. g6 r@Lomes
(b) oipdlesr AfLy 2. &ysn
(c) slemmpsLDd 3. ungSlwmi
(d) ureveis) 4. unydlgnges
@ b (© @
(A) 4 3 2 1
(B) 3 4 2 1
C) 2 1 4 3
(D) 3 4 1 2

(E) New Qzflwefevenso

W36560mi&((&) 2l leVeMeV, LDFHENEOWIMLD

gnmfeonis Hevemev Hlewev Q&@meafled Lulenmy eumgiener emfl wing?
(A) g8Czs 2 mHeus Ijewfl (B) 2_euemiowenfl

(C) apsgsaT_(H 2 suenwesn] (D) YnNgiCwmser oeuwfl
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(E) v Qzflwelevenso

93. Leveveul BTevg SAPLlaeT cTeleUEmS 2 (Heumsemer blegsEGandled aaGsinhdmbset
(A) @dlenr (B) wnenest
(C) seyer (D) werfgewr

(E) eflew Qzfwellevenso

94. (PB6IT (PSHEVTEHE FGITSHTTS cTerianid &T(PHeNenw Cleusfludieur wimi?
(A) @ewRIGLg a6 FralL (B) oymips mreuson
(C) efmwrpesileur (D) rm.. Gegilillememen

(E) New Qzflwelevenso

95. ewpwmns QBTenr 61(PSIs.
(A) Si6uest sedlghent 16060 (B) ojeuett sellghest ieutmy
(C) ojeuett sedlnest 6060681 (D) si6ustt aedlgnenr 60601

(E) New Qafweleveneo

96. E556m60 FTSFHEN(HHEG ClFTLMGlveons ClFT_enrs SHewT_ls.
(A) anev euremflan ClEwigeur (B) wgienruiled eumpmgeui
(O) wpanemsl Leveuisefled emeur (D) @emmiCaneugaeflenr 2 Hm mevorun

(E) New Qzflwelevenso

97. B0 Qeusoeid CoungiaE ColeTBID ....ccveveeerenenee.
Qunmsswres Geneenes Coinls®.
(A) ues (B) Qunpay
(C) Q&eveud (D) uens

(E) eflew Qzfwellevenso

98. wenfGaemeouiled elmedla (esfleurmer LAGCETL FruD QUDDeUST WTT?
(A) &swd (B) wenllGuaenev
(C) oy Slemry (D) snusssmgens

(E) v Qzflwelevenso

99. ‘i ms5ss smuflwn’ eresm umyrLLliu(eug
(A) Seotindlamid (B) wenllGusemnev
(C) euememwimuig (D) @ewr_eoGasl

(E) New Qafweleveneo

100. “‘BmhIHu vy FHg Braflewn urmbSlu sniucwnf shlps CenwelwrHumd” - e
QFEDOILTNEE Bevsaenibd au@GHseuiT
(A) ufdlworh senevEni (B) mrsseo sedlehi
(C) umyHwmr (D) unrdlgnaes
(E) New Qzflwedevenso
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101.

102.

108.

104.

105.

LS50 2.67.6760 sTLLA

“@enGLmALL 1967 61 2 T&Sm awemav CHIL 6V 6o m6VeLLll 6% evwurl 6S_iadlt” eresrm
LSS wihenLw sweflengemw GDleHng)?

(A) zgur evalfl (B) oimpmad ulLnegniwm

(C) dlyevor Coemi (D) Blflgn someveumenf

(E) New Qzflweleveneo

“Indomitable A working woman’s notes on life work and leadership” is the autobiography of?

(A) Jumpa Lahiri (B) Arundhati Battacharya
(C) Kiran Desai (D) Nikita Lalwani
(E) Answer Not Known

@ndurelledo wrOHMS Hperrefllaepsarer e Guilleren LD Heweowd ermiE
Bmieuiu’Hemeng) ?

(A) ev&Gevtm (B) Qgemignevtm

(C) Qumsesmnit (D) Ql_eved

(E) New Qzfwelevenso

India’s first Para-badminton academy has been set up in?

(A) Lucknow (B) Telangana
(C) Bangalore (D) Delhi
(E) Answer Not Known

Bndlurelen Waiuflu enenn &s Glusss Qenewriiunes 300 Gwar eur’ Gemeoni oy eme0
oG Qunss Qgm_rilujereng?

(A) GgrGeorm (B) <oyGred

(C) oyreusved (D) Qum_m_

(E) New Qzflwelevenso

India’s largest Single-axis Solar tracker system, a 300 MW solar plant has commissioned in?

(A) Dholera (B) Amreli
(C) Aravalli (D) Botad
(E) Answer Not Known

@ndw eflwrers LewLullesr sl 19_sHed LBRCaEDD 26ug Cuetr eflwresflujnd (PH6o GlLIevH
TooGLev edomesfl wimn?

(A) seuerfl #gTCGeud) (B) uneuenn kg

(C) fleurmud) S (D) =,Grmad LievstigL

(E) New Qzflwelevenso

Who is the second women pilot to participate in the Indian Air force Tableau and India’s first women
Rafale Pilot?

(A) Avani Chaturvedi (B) Bhawna Kanth
(C) Shivangi Singh (D) Aarohi Pandit
(E) Answer Not Known

Brdw rremieuliLien_wWles Flenewt Femevening semuSlung Blwiblésiul L el wri?
(A) A.eterv.7m2s (B) Alifoed s65
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(C) gevong. Gyens (D) sndlr Cosi
(E) v Qzflwelevenso
Who has been appointed as new vice chief of Army Staff?

(A) B.S.Raju (B) Nirmal Chand
(C) Chandi Prasad (D) Chandra Sekar
(E) Answer Not Known
106. gflwunes QUTHSSSSen6rT 2 EOL LEneUBEN6NTS SHevTL_M5,
I. Qmrdasen - 2 ulflw Hflwr earsdlaen
11. 1q..c16%7.67 - Bupsefls oyblevid
111. ewraeSletr - anmiGmes
IV. emeul_L1Blesr E - Bfled semyujd emeul L 6w
(A) T bW (B) I w (@b
(B) L 11, wpmud IV (D) L, 1T opmud 111

(E) New Qafweleveneo
Find out the correct matches :

I. Enzymes - Biological catalysts

II. DNA - Nucleic acid

I1I. Insulin - Hormone

IV. Vitamin E - Water soluble vitamin

(A) Il only (B) I only

(B) L1I,and IV (D) 1, I and III

107. @@ FAnleueflen CgremenL I LGS sesm Grev wIHDL gHLGSHTDG? CID SeuaienLww
wassle0 Crmo eusnisd] snewriL@$esms. YsHE strewioner anriGomesr
(A) BestabliGigest (B) Q6v@L_rerore Grymest
(C) rretorg Grmolegest (D) yGrmigevigCrrmes
(E) ew Qzfwefevensv
A boys larynx enlarges leading to deepening of voice and he shows hair growth over his face. This is
due to the hormone
(A) Inhibition (B) Testosterone
(C) Oestrogen (D) Progesteron

108. Wetmeumeuemeunenm sflwmen euflengulled etpsis,
L. siemevr eu@Liy : CurCemam_iqeSl_Gevr
II. @®wun  : wCuMIGW
L eutiy  : eoLamiqedl_Geor
IV.auflems  : wyellCle&enGeausSleny
(A) II-I-IV-II (B) I-II-III-TV
(C) IV-II-II-1 (D) II-II-1-IV
(E) New Qaflwefevenso
Arrange the following in correct order :
I. Subclass : Monochlamydeae
II. Family : Euphorbiaceae
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109.

110.

111.

112.

LS50 2.67.6760 sTLLA

III. Class : Dicotyledonae

IV. Series : Unisexuales

(A) II-I-1V-11 (B) I-I-II-TV
(C) IV-III-1I-1 (D) II-1II-I-1V
(E) Answer Not Known

2 e0dled (pFeT(Feden sevTLBluiiul L et mievoramuifl wmHS 61g ?
(A) Syl éeNes (B) Q__gremesdlafles

(C) QuenrdleSlest (D) sl _QriiGL_nmemiodlest
(E) New Qzflwelevenso

What is the first antibiotic discovered in the world?

(A) Ampicillin (B) Tetracyclin
(C) Penicillin (D) Streptomycin
(E) Answer Not Known

peflEFCaigens BeoL ClUNID (WeHw Freur 2 miL

(A) Geunaerr (B) sews(m)
(C) @emevaser (D) weonasn
(E) New Qzflwelevenso

Which part of the plant is most important in photosynthesis?

(A) root (B) stem
(C) leaves (D) flowers
(E) Answer Not Known

oyt Qumiuwed Cgmfled B Lkisemer enswresi(® selllgreonbg BB Cur_fae, Glamef]
BIL® S iGuuin sy Hweiser &Crmgenen 2 HLSS QFuiushE siresiones edenes LINS0sHSS
SnaUFLD

(A) @enyen gemL_eun (B) oelestm gemL_eun

(C) Slewrampgioid (D) Lno’sLige0

(E) New Qzflwelevenso

Employing genetic engineering techniques, Potrykus of Switzerland and Peter Beyer of
Germany transferred genes of Carotene from

(A) Oryza Sativa (B) Avena Sativa
(C) Chrysanthimum (D) Daftodils
(E) Answer Not Known

QR H6ev1 FGITSSlen SHeur yeney 729 Clg.15° etesfled g6t epenevelLLd eTeueuaTE
(A) N2 Qs.8 (B) 9V3 Q.18

(C) 18 Q.18 (D) 1843 Q.8
(E) New Qaflwelevenso
The volume of the cube is 729 cm?®. What is the length of the diagonal

(A) 9v2 cm (B) 94/3 cm
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1183.

114.

115.

116.

(C)18 cm (D) 18\/5 cm
(E) Answer Not Known

agpiwrelles sHCUTMSW awg UGB W Fheosullen euwSled &m0 LTSLMGL. Ml
OB G Py Fhensules euwgneng eapfiwreller euwengl CureL g WLLARSTS
BmHsa. euiseflen sHCLTMSW CULENSS SHT6TIS.

(A)S,32 (B) 10,40

(C) 12,48 (D) 14,56

(E) New Qzflwefevenso

Now Sharma age is quarter as old as his father. Six years ago the father’s age was seven times as old as
Sharma. Find their present ages

(A)8,32 (B) 10,40
(C) 12,48 (D) 14,56
(E) Answer Not Known

Q@ a6 Oztems 155 2 oyemBaafled 8% e eullg ez 2 oyeBasiledy HenLs@Gn
&L (D auligs@ sefleaigs@hn 2 een elgdwunsn I 40 aeafled 565Tems

(A) 6,250 (B) % 6,000

(©) X 6,150 (D) X 6,200

(E) New Qzflwefevenso

The difference between C.I. and S.I. for two years on a sum of money lent at 8% p.a. is I 40. Then

the sum of money lent is

(A) 6,250 (B) % 6,000
(C) X 6,150 (D) X 6,200
(E) Answer Not Known

a-i-b:b+c:c+a:k’é_mﬂﬁwmyr oS

c a b
(A)O B)1
)2 (D)a+b+c

(E) New Qzflwelevenso

a+b b+c c+

If 4_ k , Then the value of kis
c a
(A)O (B) 1
©)2 (D)a+b+c
(E) Answer Not Known

R Sgamsdleo, wenfl sr__Hb (ereflenr Carewid 12 wenflleg, erememeuns @)\(HeELWw?
(A) 360° (B) 180°
(C)90° (D) 30°
(E) New Qzflwelevenso
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120.
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In a clock the angle traced by the hour hand in 12 hours is

(A) 360° (B) 180°
(©)90° (D) 30°
(E) Answer Not Known

100 etemsiaeflenr gnefl 40 etevimy snewriLl L g). sewsSHGWL CrrsHler 30 wHmD 27 et Q(H
eNleurmigst 3 wOMID T2 eTenSFHuMIGHONs 61(DSSHSSTeTer LI L g 611 Qaflw eunbzg etesflev
sflwunesr srneflenws snevors.

(A) 39.82 (B) 40.18

(C) 41 (D)42.5

(E) New Qzflwelevenso

Mean of 100 observations is found to be 40. At the time of computation two items were wrongly taken
as 3 and 72 instead of 30 and 27. find the correct Mean

(A) 39.82 (B) 40.18
(C) 41 (D) 42.5
(E) Answer Not Known

Brewni(p erevrigseflen WeAm Clung eun sttt 2079 WLIELIH Cung) eu@) stetsr 27. jeuHMled (LPGev
et6vor 189 e1evfled 2618 et6vET WG ?

(A) 179 (B) 197

(C)297 (D) 279

(E) New Qzflwefevenso

The L.C.M of two numbers is 2079 then HCF is 27 If the 1st number 189, then the 2nd number is

(A) 179 (B) 197
(C)297 (D) 279
(E) Answer Not Known

@@ edwrunfl @ Cunmener ¢h.1,2008@, ecunmdlesi. 6Ty iHem LsselemnevsE Ge 30%
2 wisdH, @Ns5s elewev paflenmi. QanE 20% senepuy Qar®sSs Do eefled, elnHLenes
eflemev OHMID Peoru F56iFD Sesors.

(A) em.1,560, 6% (B) em.1,428, 4%

(C) em. 1,248, 4% (D) em.1,650, 6%

(E) New Qzflwelevenso

Atrader buys an article for Rs. 1,200 and marks it 30% above the cost price. He then sells it after allowing
a discount of 20%. Find the selling price and profit percent.

(A)Rs. 1,560, 6% (B)Rs. 1,428, 4%
(C)Rs. 1,248, 4% (D) Rs. 1,650, 6%
(E) Answer Not Known

@@ au@Ulled wreweliser, wrewelwisst eNldlgn 4:5. wreweuiseafles eemrenflaemns 20 ereflev
wrewstedlwiflest eTevvTenflgHens

(A) 15 (B) 20
©)25 (D) 26
(E) eflev Qzfwellevenso
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121.

122.

1283.

124.

The ratio of boys to girls in a class is 4:5. If the number of boys is 20, then the number of girls is

(A)15 (B) 20
©)25 (D) 26
(E) Answer Not Known

X, Y, Z seflgseflCuw e GCousmevenw (igss 6 wenllCriw, 4 wenfl Cryw, 12wenfll Crrb a(OH\SHs
Qanendlesimenti. epeuHbd GCammbg euGauemevenw (P4&s eeueueate] CrIL HSSS Clamemeurn ?
(A) 3 hours (B) 5 hours

(C) 6 hours (D) 2 hours

(E) New Qzflwefevenso

XandY and Z can independently complete a piece of work in 6 hours, 4 hours and 12 hours respectively.
If they work together how much time will they take to complete that piece of work ?

(A) 3 hours (B) 5 hours
(C) 6 hours (D) 2hours
(E) Answer Not Known

@@ weaflgenr 114 5 Qen_Qeuaflllled m Ameusflen Kenesmed 21 S/K) eret1m CousgSlev
geumS . fnieues 155/ eresim CoussHled eiqenmer @meumid eTLIOLING FhSS818 CamsTeur
(A) 18 Abl_rigen (B) 19 Afl_miger

(C) 20 HIAL_misen (D) 36 Hufl_ruser

(E) New Qzflwefevenso

A man is 114 metres behind a boy. The man runs 21 metres in a minute and the boy runs 15 metres in a
minute. In what time they will meet

(A) 18 minutes (B) 19 minutes
(C) 20 minutes (D) 36 minutes
(E) Answer Not Known

&mHBGS (4-[6-{12-(10-8+6)}]

(A)4 (B)2
©o6 D)8
(E) lew Qaflwefevenso

Simplify : 4-[6- {12-(10-8+6)}]

(A)4 (B)2
©)6 (D)8
(E) Answer Not Known

Q@ Catems 9 aumLrhisafleds Qrilqliundleng eesfled, eul_ly eNlflgonesg
(A)91‘V (B)lOl‘V

— /0 — /0

9 9

(©) 11%% (D) 12%%

(E) New Qzflwelevenso

22



125.

126.

127.

128.

LS50 2.67.6760 sTLLA

If a sum of amount double in 9 years then the rate of interest per annum

1 0 1 0
(A) 954 (B) 1054
© lll% (D) 121%

9 9
(E) Answer Not Known

a0 7 Qued eretoisaflest S L elNevssd 618 ?
(A)7 ®) 7
)4 (D)2
(E) New Qzflwefevenso

Standard deviation of first 7 natural numbers is

(A)7 (B) N7
©4 (D)2
(E) Answer Not Known

Q@H USLW W (Wewn eiHlubn Qumpg Sl &G0 et 3 61 LRSS Q(HLILSDHSTe
Bapssea) wng?

(A) 12 B)1/3

©) 1/6 (D)2/3

(E) v Qzflwelevenso

In a single throw of a die, the probability of getting a multiple of 3 is

(A)1/2 (B)1/3
(C)1/6 (D) 2/3
(E) Answer Not Known

@ Smosdled 15% Guhemsasst, 40% Guewisst, Srmogdlen Qwrssn 900 W&SET 2 ememeu
e165fled oy eTBTSET:ClLIETITSBET: G LPHENSSHET 6T60TD NHFHMG SH6vOIss.

(A)9:7:4 (B)9:8:3

(C)7:9:4 (D) 8:9:3

(E) New Qzflwefevenso

In a village, 15% are children, 40% are women. There are 900 people in the village what is the ratio
Meri: Women: Children?

(A)9:7:4 (B)9:8:3
(C)7:9:4 (D) 8:9:3
(E) Answer Not Known

@@ Bimarsder Berd 20 Gg.15, afli QemEGss 2 wrd 7 6&.5 wpmid 10 C&.5 YmHsred
SeumBlest LITLILIEN6| SHT6surs.

(A) 160 cm? (B) 110 cm?

(C) 100 cm? (D) 170 cm?
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129.

130.

131.

(E) v Qzflwelevenso

Calculate the area of the quadrilateral whose length is 20 cm and perpendicular distance to the diagonal
from opposite vertices be 7cm and 10 cm

(A) 160 cm? (B) 110 cm?

(C) 100 cm? (D) 170 cm?

TWITTER etetrugy SUHTUFS etesr @bl Qummred GLITTER eteniugy eteueumm @mlui®m
QewiwiuL Geuesor(Hib?

(A) FKHTUFS (B) FSHTUFS

(C) FHKTUFS (D) FSKTUES

(E) New Qzflwefevenso

If TWITTER is coded as SUHTUFS then GLITTER is coded as

(A) FKHTUFS (B) FSHTUFS
(C) FHKTUFS (D) FSKTUES
(E) Answer Not Known

6 Gui, @ premensE@ 8 wenfl Crrb GCeuemey ClFLg), @@ auMrsdng e 8,400 &bLndlslenmeuti.
etesfled 9 Guit, (1 BIEWeENSE, 6 wewfl Cryb Couenev ClFIZ @ uMTSSDE eTeueuaTa| FDLITSLILIMT?
(A) em.8,400 (B) em. 9,450

(C) ¢1.16,200 (D) em. 16,800

(E) New Qzflwefevenso

If 6 men working 8 hours per day and earn Rs. 8,400 per week, then 9 men working 6 hours per day will
earn per week:

(A)Rs. 8,400 (B) Rs. 9,450
(C)Rs. 16,200 (D) Rs. 16,800
(E) Answer Not Known

Wesreupd LsemLaeflenr Cambmss) e\mHa ‘2°6@ e1dfled eub erevor wing)?

Splnglaglsy

(A)3 (B)6
©)4 (D)5
(E) v Qg flwelevenso

Which number comes opposite on 2?

Splnglaglsy

(A)3 (B)6
©)4 (D)5
(E) Answer Not Known
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132.

133.

134.

135.

136.

LS50 2.67.6760 sTLLA

1+3+5+....25 2 muiiyasen eueny 2 eten Qgm_fest gn(HHe0
(A) 600 (B) 625
(C)650 (D) 675

(E) New Qafwelevenso

The sum of the series 1+ 3 +5+.... to 25 terms is

(A) 600 (B) 625
(C) 650 (D) 675
(E) Answer Not Known

P, q, 1, S, teTetTLIEN Tl (DG Q@Tii euflenguied @wLlestp-4q+6r-4s+t=
(A)1 (B)2

©)3 (D)o

(E) New Qzfweleveneo

Ifp, q,1,s, tare in AP. then the value of p-4q + 6r-4s +tis

(A1 (B)2
<3 D)o
(E) Answer Not Known

3 ereviaen 1:2:3 etev1n eHlGSHe0 2 6menert. eummlent 15.ClL.eu 12 eterfled eubleussuTasT Wemeu?
(A) 12,24,36 (B) 10,20,30

(©)5,10,15 (D)4,8,12

(E) ew Qzfwefevenso

Three numbers are in the ratio 1 : 2 : 3 and their HCF is 12. The numbers are

(A) 12,24,36 (B) 10,20,30
(©)5,10,15 (D)4,8,12
(E) Answer Not Known

5%-&@ 3%-651 eSl(p&HHM(H) 6TetTewT?

(A) 70% (B) 50%
(C) 40% (D) 60%
(E) New Qaflwefevenso

What percent of 3% in 5%?

(A) 70% (B) 50%
(C)40% (D) 60%
(E) Answer Not Known

x> =2x 3x+6
X

X +2x x=2 e gy
(A) 3x (B)3
(C) 3x+2 (D) x -2

(E) New Qzflwefevenso
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137.

138.

x*=2x 3x+6
X

X 4+2x x-2

The value of

(A) 3x (B)3
(C)3x+2 (D) x—2
(E) Answer Not Known

Qrgs 2 BB 2 puss (GDP) Qgr_iurner sflwres snpenn/ snpnisener GCsitey GlEuwiweaLw.
(a) o181 @f GMUNILL 160 euenrwenns@ 2 MSHTeg 3i6060.

(b) g “Cun@mLaer” Cgriumer i SeneiGLwn@b. “Caemeu” QFMLiLITESTE 6060
(c) 318 uewID FMITg SjeTeSL_NEGLD.

(A)a #fl b wOMID ¢ Feumy (B)b wmmbd ¢, &fl a seumy

(©)a, b, c zeumy (D)b &f a wHmIb ¢ Heumy

(E) eflev Qzfwelleveneo

What are the facts related to defining GDP?

(a) It is not for a specific period of time.

(b) It measures only goods and not services.

(c) It is a non monetary measure.

(A) ais correct, b and ¢ are wrong (B) b and c are correct, a is wrong
(C)a,b, care wrong (D) bis correct, a and ¢ are wrong
(E) Answer Not Known

BE o Cursdles @emphoule sre) ellemed (MSP) Qamitunes wHITH SiPleenaulles Lig
SpateyId 6165 Fapnl/ smpniser eflwreng/ sflwrerene oyELb.

(a) “@mphoULE sTe| elame” aensliLis arusHnE ertu letlssliLLb.

(b) “@empBsUL s ysHTe| lemer”ullen Crresn eleusnisepse@ elene 2 Ssreunsnd eaflliug)
S4GSID.

(c) 2 evawLWLTISESHEsIT UL (DTN FhE FOLWDHD uiSsa e edleweareuns eleusmu
Qunpstaefles elemeouied rpLIBID Caemeuwpm egOD Pnasriseafled mHa eNeusmuisener srliLg
(PSS WLDEV6V.

(A) (@), (0) B> (B) (a), (b) 1L (b

(©) (b) LW (D) (c) v @

(E) New Qg flwelevenso

According to the evaluation report of Niti Ayog related to Minimum support Prices (MSP), which of
the following statement (s) is/are correct ?

(a) MSP is declared before the sowing season.

(b) The idea behind MSP s to give guaranteed prices to the farmers and save them from price fluctuations.

(c) With globalization resulting in free trade in agricultural commodities, it is not important to protect
the farmers from the unwarranted fluctuations in prices.

(A) (a), (c) only (B) (a), (b) only
(C) (b) only (D) (c) only
(E) Answer Not Known
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140.

141.

142.
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ewreupd eleugmu (peomaafled 615 @W0ed HLL ?

(A) sflw Ceuermessrenio (B) en@uig. wrHmLd

(C) oidla e smb aumassfles gnguly (D) sevewing ef(haefler euanmn Freurmisst
(E) New Qzfwelevenso

Which one of the following agricultural practices is ecofriendly ?

(A) Organic farming (B) Shifting cultivation
(C) Cultivation of high yielding varieties (D) Growing plants in glass house
(E) Answer Not Known

YesTeu(HD Fnhemm SHeueutl.
RIGT6y Frienu grei(hdlenn aau oyeaies snenflsarrealest

1. enClengsilseamns Crrésn 2. Biewip Getemin CHISHEHLD
3. Guyneng GCrr&sswd 4. gemeolliL& Gl&enens
Guevatamib ampnisefled sfluneseunenn Caia| Cleuwiweawb.

(A)3 wpmb 4 (B) 1, 2 wpmb 3

(O 1, 2 wpmib 4 (D) 1 wpmb 4

(E) ew Qzflwelevenso
Consider the following statement.
The objective factors for determinants of consumption function are.

1.Motive of precaution 2.Motive of liquidity
3.Motive of avarice 4 laissez-faire policy
Among the above, select the correct statement(s)

(A)3and 4 (B)1,2and 3
(C)1,2and 4 (D)1 and 4

(E) Answer Not Known

“aflwrellest QLI gmi” etesrm) Olaestement 6160 Sem&HaLILIMSINS)?

(A) meyefls Qamfled @mHLILISETTEL (B) GurLmi eungens Gamfled @\mLiLigeumeo
(C) Gaev Ggifled ZpLILIGEsTTED (D) SleoriiuLg GQamfled mLiLigeumeo

(E) New Qzflwelevenso

Why Chennai is called as “Detroit of Asia™?

(A) Due to the presence of Textile Industry (B) Due to the presence of Automobile Industry
(C) Due to the presence of Leather Industry (D) Due to the presence of Film Industry

(E) Answer Not Known

fetey Cums oot QrSwn 61bg e Hevg FweLmomamer CHT_mifluig?
(A) 1786 (B) 1843

(C) 1935 (D) 1950

(E) New Qaflwefevenso

When did Reserve Bank of India Commence its operations ?

(A) 1786 (B) 1843
(C) 1935 (D) 1950
(E) Answer Not Known
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143.

144.

145.

g LSS0 Qsring (perGemeugnaner sflwrer Crrsssang Hiemrulsgser “ elenyeunsst
euenigfleow Couredl wHMID HHs 2 eren_mdlu euerisd

(A) 10 -eug Sl id (B) 9- eugy $Lid

(C) 11- eugy L id (D) 12- eugy b

(E) eflev Qzfwelleveneo

Which plan had set the correct goal in the form of moving ““ Towards faster and more inclusive growth?

(A) 10" plan (B)9 ™ plan
(C) 11 " plan (D) 12 " plan
(E) Answer Not Known

&G Qarmssliu_(Rsten pHaener HeoliLgdlaepen sflwrs Qurmsgs:

uliquieo I uliquieo 11
(pmisen [giewemnnmiser)  (HeoliL@glsen)
a) &LIev L. sflps LGS
b) arGeufl 2. Gears Biefipsd
C) BILGT 3. ar(prnes Hleod
d) esieudl 4. (&S eunTLDd
CIICE

(a) b © @
A 2 1 3 4
B) 1 2 4 3
< 4 3 1 2
D) 3 1 4 2

(E) New Qzflwelevenso

Match List I with list IT correctly and select your answer using the codes given below:
List1 ListIT

(Rivers / Tributaries) (Landforms)

(a) Chambal 1. Delta
(b) Cauvery 2. Jog water falls
(c) Narmadha 3. Bad Lands
(d) Sharvathi 4. Estuary
Codes:
a b c d
A 2 1 3 4
B 1 2 4 3
< 4 3 1 2
D) 3 1 4 2
(E) Answer Not Known

yedl Gupuriilesr 2 wrbd wHmid srpelenes Frmefl sLeo WL SHeONHHE S Lwe(Hb
QUEMTLIL_LD

(A) afiGerelo_Ms euenenCan(n (B) evnrresteny euemenGan(h

(C) SlewenGesrm SArmils eusnenGan( (D) siemevleusssr susnenGsn(p
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(E) v Qzflwelevenso
The diagram used to show the distribution of earth’s solid surface at elevations above and below the
mean sea level is

(A) Hypsometric curve (B) Lorenze curve
(C) Clinographic curve (D) Frequency curve
(E) Answer Not Known

Brdw sw6euefll LEdlsemer sesEysgHL QUWBS.

3
4

a. #L_0levgy wipesm F6leuerl b. prggevgres Fwbleueafl
c. bsSw snens Fwbleuafl d. 2 wir smsnr Fwbleusfl

1 2 3 4
(A) b a d c
B) a b c d
© c d b a
D) d c b a

(E) New Qzflwelevenso
Identify the great plains of India and name them

a. Sutlej Yamuna Plain b. Rajasthan plain

c. Middle Ganga plain d. Upper ganga plain
1 2 3 4

(A) b a d c

B) a b c d

< ¢ d b a

D) d c b a

(E) Answer Not Known

el 580 saflen euemmse stenr @GN LiIL(Hleug).
(A) S5 wrriger (B) @rlui wrriger
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(©) egiiy Heomisen (D) wpmewsser
(E) New Qg flwelevenso
Lakshadweep islands are known for..

(A) Peaches (B) Rubber
(C) Marshes (D) Corals
(E) Answer Not Known

148. yell @ fNweflemia WHas Cgremevailey ms@n Hlemed Qeueutn SewwssiLBEHng
(A) QuilabeSwiest (B) oitiadedlwiest
(C) sl i (D) swuseSiyey
(E) New Qzflwefevenso
The Position of earth farthest from the sun is termed as

(A) Perihelion (B) APhelion
(C) Solstice (D) Equinox
(E) Answer Not Known

149. uliqued I 2 e uliquied II-gl Gunmss), SCp 2 emen Qan@LUleN BB sflwner efenLenw

Qsfley Qawis.

uliqueo - Ganenger uliquiev II- &mmiens sreod

(A) Qaeueumi 1) 88 mm_&en

(B) wifl 2) 225 mmlgen

(C) ysewn 3) 687 mr_aen

(D) Qeusmadl 4) 365 mmrlagen
@ (b () @

(A) 3 4 2 1

B) 3 4 1 2

<© 2 4 3 1

(D) 2 4 1 3

(E) ew Qaflwefevenso
Match List I with List IT and select the correct answer using the codes given below :

ListI - Planets List I - Revolution Period

(a) Mars 1. 88 days

(b) Earth 2.225 days

(c) Mercury 3. 687 days

(d) Venus 4.365 days
(@ (® (0 (@

A 3 4 2 1

B) 3 4 1 2

<) 2 4 3 1

(D) 2 4 1 3

(E) Answer Not Known
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151.

152.
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Caors BieSipsdl iemwmgisTer I

(A) enyreud) (B) amefiffl

(C) lmeigpevorm (D) Gangreurl
(E) New Qzflwelevenso

The jog fall is located on the river

(A) Sharavati (B) Cauvery
(C) Krishna (D) Godawari
(E) Answer Not Known

uligwed | @ uliqued Il 2L et Qurpsd 6 Gar@ssiul_(erer Ghluibsenets Glaress(H
eflwresr elewLenws Caimbos (&S .

Ul iquieo I uliquieo 11

a) Qeolss Say 1. sewwTiqHT

b) Sflygn 2. pmepdl

¢) amflumesm 3. sz TeON

d) egmisev 4. seurlig
(@ (b (o ()

(A) 1 2 3 4

(B) 3 2 1 4

) 4 3 1 2

(D) 2 1 4 3

(E) New Qzflwefevenso
Match List I with List IT correctly and select your correct answer using the codes given below:
ListI ListII

a) Lakshadweep 1. Chandigarh

b) Tripura 2. Ranchi

¢) Haryana 3. Agartala

d) Jharkand 4. Kavaratti
@ (b () (@

A 1 2 3 4

B) 3 2 1 4

< 4 3 1 2

D) 2 1 4 3

(E) Answer Not Known

SPETEYID eursSHwrisemes HmHSSleo Clsens.
gapml (A) :1&98 QUEHRISLEMEVE SHHMBILETET LOEHEVSET SEVITL LOHMILD SL60 HL_(NSET 2 856065160
aDLOSSLILIL_L 6vT.
amewid (R): owé@ elensullen snpewtons Sefly owssb anul (), sevr_miseaflear grriseafleo
2 _enen Lilge g6 2 wWiigSLLL (), wigliL] wenevser, LdLNE QumrmsL_Geomrb 2 et _tsaliLiL(DeTeng.
(A) (A) vopid (R) @rer®@Gw #fl, Coend (R) stettugy (A) i@ eflwner elenssid
(B) (A) wpmid (R) Greswrid &fl gyesmed (R) etetigy (A) eln@ sflwnest eflengsineven
(©) (A) &fl emmev (R) seum
(D) (A) seumy syevmev (R) &l
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158.

154.

155.

(E) v Qzflwelevenso
Consider the following statements:

Assertion (A):The collision of continental and oceanic plates result the mountain ranges encircling the
Pacific Ocean.

Reason (R): The intense pressure due to compressional forces cause the depositions on the marginal
continental to uplift to form fold mountains along the Pacific coast.

(A) Both (A) and (R) are individually true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are individually true; but (R) is not correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

&0 Ganssliul_(Deter eutsSlwmsefleo e1g Fflwnme?

L. 18131b syevst(n) L L wig gL 1b @udlwiney_emen swblussilulles eunewfla wHmiflens Baali’Lg.
I1. 18131b et Ll w& b, I BlmpHE Sieiwd upn Slevges Fwwls LFlLTeTISeT
Brlwneys@ aur S@ISSS3I.

II1.18331b oyenr(m@ wlLwé sl @uHureded Hleow eummis 91469 &4 s615EH6E
SiwSueflssg. 1V. 1833b oyev® ulLwé gL ggner Helled siellavasten Cum_ins Csiey
pempedw SN (psD lewiibil L g).

(A)I (B)1I

(C) 11T (D) IV

(E) eflev Qzfwellevenso

Which of the following statement is not correct?

I. The company’s trade monopoly with India was abolished by the Charter Act of 1813.

II. The Christian Missionaries were allowed to come to India after seeking permission of the Government
by the Charter Act of 1813.

III. As per the charter Act of 1833 the British Citizen were permitted to purchase land in India.

IV. The system of competitive examination was introduced for the civil services by the Charter Act of
1833.

(A1 (B) 11
O (D) IV

wmGasrCLrGeon wnmenL W HrevsSHed LMewTiqw B 14NE euhens Lflhgsmi?
(A) wmpeumest &eoGaasyest (B) Om®epaemL_west

(C) ambgrunetsTiqUIEST (D) efyumesoriquiest

(E) New Qaflwefevenso

Marco Polo visited Pandya Country during the period of

(A) Maravarman Kulasekaran (B) Neduchadayan

(C) Sundarapandyan (D) Veerapandyan

Spaeseupenn M6 auflensiLBSgs

1. an~wmypeflenr oLy 2. @uesorLmb unesfliiu’ @ Gumi
3. UGl &l sl L Liu@geo 4. Sev1 Qeoran gD HBledlLiy
(A)2-1-4-3 B)1-2-3-4
(©)3-4-2-1 (D)4-3-2-1
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(E) v Qzflwelevenso
Arrange the chronological order.

1. Death of Humayun 2. Second Battle of Panipat
3. Building at Fathpur Sikiri 4. Proclamation of Din-illahi
(A)2-1-4-3 B)1-2-3-4
(©)3-4-2-1 D)4-3-2-1

(E) Answer not known

Lpevtn &ieungerlls Femuls upl smSHeo Clamea.

1. weErGzeu Carellhg TrewtCL QeuelwsasSlen epenemnunss GFweoLIL L .
2. @&semu wEsafles yrflwed 2 Memwaamers upBlw NPILILewTIEme THLOSS WS
3. 1878 b gyemi(n usSfisenas sl L semg e1lisss

4. @euefwsasd ‘oflg ugrt usfar seran LSS Nasamaemnu QeusflullLg).
Culeo @I L eursflugdHed sflwneseneu stemeu ?

(A) 1 wHmid 2 wL b (B)2 wmmd 3 wi (@

(O 1, 2 wpmibd 3 (D) 1 womd 3 w @b

(E) New Qaflwefevenso

Regarding the Poona Sarvajanik Sabha consider the statements

1.Mahadev Govind Ranade was the brain of the organisation

2.The Sabha awakened the people of their political rights

3.1t protested against the vernacular press Act of 1878

4.1t published ‘Amrita Bazar Partika’

Which of the statements given above is/are correct?

(A) 1 and 2 only (B) 2 and 3 only
(C)1,2 and 3 (D) 1 and 3 only
(E) Answer not known

Sp& a6 euhenn GlLINHSSIS:
(a) HAeunzd Ly
(b) yrmaT 2 L enLIgHms
(c) Sleurzd ou&pm efzouid
(d) Heurd esHrud Ll Lid G196 ClEnenEnseo
@ b © @
A 1 2 4 3
B) 3 1 2 4
1
1

1665
1666
1627
1674

=

<© 2 4 3

D) 4 3 2

(E) New Qaflwefevenso

Match the following :

(a) Shivaji Born

(b) Purander Treaty

(c) Shivaji visited Agra

(d) Shivaji assumed the title Chatrapathi

1665
1666
1627
1674

D
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@ (b (© @
A 1 2 4
B) 3 1 2
© 2 4 3
(D) 4 3 2
(E) Answer not known

—_— = N W

158. uliqued I g uiliquied I 26t Qunpsd) eflwnen elenL_eow GCsimbols0H

Ul iquiev I uliquiev II
a) afamevest 1.81Geonest oy Awinenit
b) QeriEL_(Heuss 2.uneveTiqw oL Swimem
¢) OBGEHOEPwes 1 3.Camp oy Awineri
d) sweune, 4.CGgr oy Awneri
@ b © @
A 3 4 2 1
B) 4 1 2 3
© 3 1 2 4
(D) 3 4 1 2

(E) New Qafwefevenso
Match List I with List II correctly and select answer:

ListI ListII

a) Karikalan 1.Ceylon ruler

b) Chenguttuvan 2.Pandya ruler

¢) Nedunchezhiyan1 3.Chola ruler

d) Kayavahu 4.Chera ruler
@ b (© @

A) 3 4 2 1

B) 4 1 2 3

< 3 1 2 4

D) 3 4 1 2

(E) Answer not known

159. &6 CansaiiuL_(Heter eNWWBST TE eUbERISMET Senausaen CarpmielssaisenL e sflwns
QunssIs:
(a) smsD eubaFLD 1. mrdlibion
(b) snepeu eubsd 2. anflapyr
(c) sIEHEu 6uDELD 3. S(mwenev
(d) 16 eubsd 4. ey BrSlibioes
@ b © @

(A) 2 4 3 1
B) 2 1 3 4
) 2 1 4 3
(D) 4 3 2 1
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(E) New Qg flwelevenso
Match the following Vijayanagar dynasties with their founders:

(a) Sangama dynasty 1. Narasimha

(b) Saluva dynasty 2. Harihara

(¢) Tuluva dynasty 3. Tirumala

(d) Aravidu dynasty 4. Vir-Narasimha
@ (b (0 @

A) 2 4 3 1

B 2 1 3

<c 2 1 4 3

(D) 4 3 2 1

(E) Answer not known

Wemeumpo QpeursSHwmisefled Gar@ssiul_(Heer gmnnl (Fn) srrewid (s1) pflueneugseanerns
smSSHev Ganen(h £C CarBssiiL_(herer QgnELiNeS®mhg 2 ks slleoLeows Cgfle Qaws.
mpml (gn) :190994b Syevvnqen QrHw sejesifled FLib ‘wenpas Caigame s L@GSHwg
sryewid (&) : @&FLId (peveSibaEnasner, saflstsn@Senw 2 emwr_nsdlwg.

(A) (52) wOMID (81) PfHw Qresibd &fl (&), (5) eSlesr sflwines eflenssid

(B) (sw) wppub (s7) Brewn@ib seup)

(©) (&) wHmid (&1) QremiObd serllssallCw &fl, gueume (&), (gn)elenr sflunes elenssd 6060
(D) (sw) ol (sm) soupy

(E) New Qaflwefevenso

Consider the following two statements consisting of Assertion (A) and Reason (R) and select your
answer using the codes given below.

Assertion (A): The Indian Councils Act of 1909 introduced ‘Indirect Election’.

Reason (R) : The Act created separate, Muslim Communal Electorate.

(A) Both (A) and (R) are true and (R) is the correct explanation to (A)

(B) Both (A) and (R) are false

(C) Both (A) and (R) are true but (R) is not the correct explanation to (A)

(D) (A) is true, (R) is false

(E) Answer not known

Q&emgeowin Q MiiLins LlefTeUBHd SnDNIHENETS SH(HSIS.

(I) seunr Hreunsgdles yHw vetaflenws CampmielSseun oy eum.

(II) syeuflerr QuPCLWT NepamIEGLIST ETERTLISTSLD.

(A) I wlw sflwrE (B) II w_(w sflwungb

(©) L II opflw @revor@d sflwm@bd (D) LIl opflw @revor(hd Seupm@Ld
(E) ew Qaflwefevensv

Consider the following statements relating to Kautilya

() He was the founder of the new school of administration.

(IT) His original name was Vishnugupta.

(A) Only I is true (B) Only II is true
(C) Both I and II are true (D) Both I and II are false
(E) Answer not known
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162.

168.

164.

QleusitememuGert GleusflCum Quissid CarevellwenL i 618 SHMTETLLEVE 6T6sTLIENS ClsT(HSaLILL (D6iTeT
aungsmIsafleS)(HbS SIEMLITETD ST6sor.

(a) ymdlew yremmsan (perblaFslsams BLalgsmawns (PasHu semevalisemer Senpulled
DS

(b) Grm wHmid Qrrgredl HCwt Crrg BLeugsmasailes BONGMS malsseileoened

(c) @B wargemL WHMHID (WeeSD 655 PHBL e sHmaamL S5NS5S5S

(d) symdleo sremsnd Qeaclwusssms LsHwg

(A) (a) (b (B) (a) wpmud (b) L Hibd

(©) (¢) wL @b (D) (a), (b) wppuid (d) oy eypeinguid

(E) New Qzflwelevenso

Identify the statement, which is not the cause for the failure of Quit India Movement

(a) British Government arrested key leaders in anticipation to the movement

(b) Nehru and Rajaji disbelieved in Direct Action

(c) Hindu Mahasabha and Muslim League supported the movement

(d) British Government suppressed the movement

(A) (a) alone (B) (a) and (b) alone
(C) (c) alone (D) (a), (b) and (d) alone
(E) Answer not known

Spaeni GMuibselleNmha sflwrer elenLenw Coimpbos®.

& (A) : @pdu sgpdlrn Cumrm b Liglitgquines eueni&d epeod 1920-22  psgiemipwinenio
BussDd auenr SPLBSG. BS5HHEBISHE Fetm 2 PSS euiseEsSSHent CUITILL 5560 Heomg)
QanevrrLewii.  Qeuiaer sriset 2 MenbsEans @@ SenLienL 2 (Heursdlet.

smesoid  (R) : 1920 ouib oyevvi(n siemensSlndlin Cgnleoneni gal L ewioliL] 2 (HeunssLiLL L g
BeusuemidlienL 2 (Heurss 2 hgiCaneons Qmbseun Ceonsoresiu Heosi.

(A) (A) womud (R) &l (B) (A) b_@w &M

(©) (R)w_(@w &M (D) (A) ued v @Ew &fl (R) seum

(E) New Qzflwelevenso

Choose the correct answer from the codes given below :

Assertion (A) : The Indian National Movement reached its crescendo in the non-co-operation
movement in 1920-22. It was in this context that there occured a resurgence of

working class activity in the years 1920-22. The working class created its own organisation to
defend its class rights.

Reason (R) : Lokamanya Tilak was one of moving spirits in the formation of AITUC, AITUC
was formed in 1920.

(A) Both (A) and (R) are correct (B) (A) alone is correct
(C) (R) alone is correct (D) (A) is partly correct (R) wrong
(E) Answer not known

Bndw s&spHTD HOLBSCLTE B4 aNSSMY s1s5smen &Gsdl Sraser Q(Hbs6w
(A) 562 (B) 565

(C) 567 (D) 568

(E) New Qaflweleveneo
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On the eve of India Independence there were nearly ................ princely states in india.
(A) 562 (B) 565

(C) 567 (D) 568

(E) Answer not known

165. Seflagmenev, levwg enmBLGrl 2 1 e gysailGasmpd ClEwiuwn Gung 2 ewr_reug)
(A) fleflafs obleond (B) Sleflgrmevigeman®
(C) 5Cem oy &eme0s ibleoid (D) sy s6romedls ojiblevid
(E) New Qzflwefevenso
Oxidation of glycerol with bismuth nirate , which gives

(A) Glyceric acid (B) Glyceraldehyde
(C) Mesoxalic acid (D) Oxalic acid
(E) Answer not known

166. SPEHETTL_ FnDMISHEDET S UIS
. eweurmise WleiaL_SSHT SH6rTEHD 2 EHL_UIG).
II. Nememy 2 emevaefled LweTLWL Wletteumiigst swrflés Symenul’ LwesTLGE DG
III. $l Aemevulepieen sriuesr ConGenmeens® 2 enrhg Leflss 1 senr SenwpssliLBSHma.
IV. smiusenL. guseme@ Hlauliy Sl emen Heo Himions wrmHmiD
Cupaent gnpmisefled aflwnesg eg?
(A) T wpmyp I (B) I wmmyd 11
(O) I wopmb 11 (D) III oo IV
(E) New Qafwelevenso
Consider the following statements
I. Diamond is bad conductor of electricity
II. Graphite is used for making electrodes of electric furnaces
III. Solid carbon monoxide is known as dry ice
IV. Carbondixide turns moist red littmus slightly bluish
Which of the above statements are correct?

(A)Iand II (B) ITand III
(CO)landII (D)l and IV
(E) Answer not known

167. ewreupd eunsSlmisener opihgl Megriul L Gdllyssener LweTuBSS eSlenweflasa]b.
gnml (A) : Cumyren smiewL( GeTH SIOeT&ESNS 2wl gwmilssl LweTLOE DG
amewid (R1) : 2181 @@ QenL_Genise smienu@ wOHNID BCaETFIBLIT alqaISms 2 HL WG|
amewid (R2) : o6t Qevipaet oifls Bpellens eued 2 enL_wiest
(A) (A), (R1) wppid (R2) sievanigid> of
(B) (A) &M (R1) etetiugy (A) sanew aflwnen smrewid whmid (R2) &flwevev.
(C) (A) &M (R1) womib (R2) Gresor@id . oevmed jemeu (A) Samest FHlmes SMTESID HE060
(D) (A) &fl, (R1) sflwevevr oyestmed (R2) etestuigy (A) sanes giflwmes smyesiid.
(E) New Qaflwefevenso
Examine the following statemtns carefully and select the answer using the code given below:
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168.

169.

170.

171.

Assertion (A) :Boron carbide is used to make bullet proof clothing

Reason (R1): Itis an interstitial carbide and has icosehedral structure
Reason (R2) : The fibres of them have enormous tensile strength

(A)A11 (A) (R) and (R2) are correct

(B) (A) is correct, (R1) is the correct explanation for (A) and (R2) is incorrect
(C) (A) is correct, both (R1) and (R2) are correct but cannot explain (A)

(D) (A) is correct, (R1) is incorrect but (R2) is the correct explanation for (A)
(E) Answer not known

Beneownesr Cu@ppbg SHeblresr Quissiiu@bGurg, Lwenfast WeCeamad) gereriL@Spriser.
Bgen Lenevenflufley 2 een GGgieud wing)?

(A) Quss Hemeo 2 pLpLold (B) guiey Hlenev 2 mipiowd

(C) Blemeowinest oymmed (D) Quss g mmed

(E) New Qzfwelevenso

When a stationary bus starts to move, the.passengers experience a sudden backward push. What is the
reason behind it ?

(A) Inertia of Motion (B) Inertia of Rest
(C) Potential Energy (D) Kinetic Energy
(E) Answer not known

R HMhsL Levsdled eneussliul_L Weenn L b CQlupm sL_Sg CLINmHET BHHD SHensenils Fnmib
sfig)

(A) Gu&evbleucvelest auevgiens eSld (B) Qevenélenr el

(C) LEembimdlest Qg ews N (D) iggrifes eS

(E) New Qzflwelevenso

In a magnetic field, the direction of motion of a current carrying conductor is given by

(A) Maxwell’s right hand rule (B) Lenz’s rule
(C) Flemings left hand rule (D) Kirchoft’s law
(E) Answer not known

yell speveugl HermiedLmeo, Hlev BOSCHT_(HL u@dHuleo - et W
(A) oflswnEb (B) @emmujb

(C) wmPMDeS)(HSHGLD (D) aflwrdlef(Od

(E) v Qzflwelevenso

If the earth stops rotating, the value of ‘g’ at the equator

(A) increases (B) decreases
(C) remains constant (D) becomes Zero
(E) Answer not known

@ ydwu ifleo @udlull uenfleow 2 meuns@eug

(A) @@ srflwevenwliyg L g HHSSS5S6s epevld

(B) @m Qaweogienn oy enest epeold

(C) 2mitiy 3126 Sp ungmepemSHle Goeveneuuled Siwresid HlewmGeunmieges eLpevld
(D) Gsllesr uienflflwinestés @ pellenT oy emessTt eLpeoLd
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(E) v Qzflwelevenso

(A new all India service can be created by

(A) An amendment of the constitution

(B) An executive order

(C) Passing a resolution under Article 312 of the constitution by the Rajya Sabha
(D) An order of Cabinet committee on appointments

(E) Answer not known

B wGsrgr Car_iung eseeuseudnIsT Seumnest HHSIHlemen &L iq.8 SHTewTLissea|b.

(A) B8 wCargreilemen HMPHILOSS Glqwras Seneveulles (est Semind Caemeu

(B) wsasetemeuulled w_HiCw Kl wlersremes HB(WasLILBSS (LPLgULD.

(O) oeuu priseflledmrg 14 Briseps@st wrbleomsaeme K wGrgTeme HlevmGoumm
Geuesst(HILD.

(D) RS wCerzn wrhleomsareneuuieo L HGL HMPSLILOSS (WPigubd.

(E) New Qzflwelevenso

Point out the wrong statement in the following with respect to money bill.

(A) The prior consent of the President is required for introducing a money bill

(B) A money bill can be introduced only in the Lok sabha

(C) The Rajya Sabha has to pass the money bill so transmitted within a period of 14 days from the date
of sending

(D) A money bill can be introduced only in the Rajya sabha

(E) Answer not known

1990- b gyevr(m wrhleviisaflen weTOD FHUMSSILIL L GI?

(A) sirflweemoiys Smsssdlen apood  (B) @rures seeafler 2 ssre) epeod
(C) unymepeTDE FLL SSl6sT ppevLd (D) 2 _&sBdlwenn 2 Szreden epeold

(E) New Qzflwelevenso

The Inter state council was set up in the year 1990 through

(A) Constitutional Amendment (B) Presidential order
(C) Law enacted by the Parliament (D) Supreme Court order
(E) Answer not known

Spasrapid Qrewi( eursSHlwmsefleo sflwrer elewenw wHITH CFus. Coab QG
Qarssiul_(eren Qgnglysefleo @mug sflwrer elenLenws CainbolsH&Hs

a&nml (A):  wsdHu - wrkled 2 peysener LMIFTMLE| CFieugDaTes Camflsamnaaer euaICILIN)SlesTDest
smyewid (R) : wrfleomsefleo Cuobun (g HLmsemenr agpuBSgeusnater CurSlu eumiiiy
CUETRIGET B)6V60TEMLD

(A) (A) wpmid (R) @rer®Cw &fl; Cuweaibd (R) stetrugl (A)-efln@ sflwnen eenssn oy @Lb.
(B) (A) wpmib (R) Qreser@Go &fl; Guoepid (R) etesiugy (A)-eln@ sflwnes efengaineven

(©) (A) &fl; gpevmmed (R) seumy

(D) (A) soumy; yeomed (R) o

(E) ew Qaflwefevenso

Examine the following two statements and select the correct answer to these by using the codes given
below
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175.

176.

177.

Assertion (A) : There has been a growing demand for review of centre-state relationship
Reason (R) : The states do not have adequate resources to take developmental projects
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not a correct explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

(E) Answer not known

sl 85510160 @GNS (PI40uDEGD HHSMTD 2 6TeTeur wmi ?
(A) sbUBSLILL L SjemeuuilesT FEmeveuT 6060 FLIMHTUIST
(B) sbungiiul L geneuuiled 2 eren sL_gseneveui

(C) @ndu Caigedr oy emewTibD

(D) &8 QampLn

(E) New Qzfweleveneo

Who was the authority to decide a case of defection?

(A) The speaker or chairperson of the concerned house

(B) The party leader of the concerned house

(C) The election commission of India

(D) The party whip

(E) Answer not known

Spaerr_eupnled wrblev weflg 2 Memwast ymemrusdles semeveusny Lflbgienr ClEwubd @
61817

(A) (paevewEST, FLUTHILST, 2 MGIDD OWLES, 615165 SHeneveul

(B) SL@mBi, (pSe06DIDESFT, 2 6TFIEND HEOEST, 61SlTHHL_SG5 SHemeveur

(O) wpaevenwssi, 2 witHwenn BHLS, aSliss fg seneveur

(D) psevemwési, adliss &g seneoaur, 3y EmHBT

Which among the following, forms a committee for recommending a chairperson of State Human
Rights Commisssion?

(A) Chief Minister, Speaker, Home Minister, Opposition Leader

(B) Governor, Chief Minister, Home minister, Oppositioin Leader

(C) Chief Minister, High Court Judge, Opposition Leader

(D) Chief Minister, Opposition Leader, Governor

(E) Answer not known

wsHws Caieurenemiug semeveur ONIL 2 NiCierisaflen Lewflasteon wm Sy ETTOGET 0605
...................... auwgl. Qeunnled 618 (PH6Sle0 uMBEADCHT F6dT Lilg

(A) 65 euwgy) (B) 62 euwgy

(C) 60 euwgy (D) 58 euwgy

(E) New Qzflwefevenso

The Chairman and the members of UPSC can hold office for six years or till the age of which
ever is earlier

(A) 65 years (B) 62 years

(C) 60 years (D) 58 years
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(E) Answer not known

a@oml (A) :2_fenwaemer SenLNILCSTLG SLemwaemer HepnGoupmib BlLbgemea @ L L gi.
smyewid (R) :gefllpur ser sLemwaamer HlennCaunmns L s5dl60, Fupassne sesflbufler Heoenest
LUTgISM&S Quieong.

(A) (A) vpmd (R) Gress@Cw &f (R) eteorugy (A) eflm@ sflwmen eNlen&sid

(B) (A) wpmib (R) @ressr@Cw &fl (R) etevrugy (A) elp@ sflwnes eflensasineven

(©) (A) &l gpemmed (R) seumy

(D) (A) soupy cpemmed (R) o

(E) New Qzflwelevenso

Assertion (A):Enjoyment of rights is conditional on the performance of duties.

Reason (R):The society cannot safeguard the individual’s interests unless the individual fulfils his
obligations to others.

(A) Both (A) and (R) are true and (R) explains (A)
(B) Both (A) and (R) are true (R) does not explain (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

(E) Answer not known

uliquwed I 2 e uliqued I g Qurdsd), uliquicseEps@s SCp 2 eter ClgnELILeS HHS)
gflures elenLuileners Gsfey GClFws.

Ul iquiev I Ul iquiev II

a) A& 44 1. gphmgssat slLmw Qeoeassd seel CunusHE aufleuens
Qewiwiul (Hereng

b) el 45 2. uliquwe Qenszeui wOMID BBLGHMen sHevell LHMID uNHaTTSTY
Blenevemw GuobLBSeug

c) &gl 46 3. ©YWssEHsE Sre 2 fawullue BenL (peom

d) 4l 47 4. s5zI6mI6| FTHHS 2 WISSHSEV, QUMDSHDS STHMNSG 2 IWNSSHSHED ELPEOLD

Qung) ssreMsSmg CubUOSSHGE TS SO

@ (® (© @

(A) 4 2 3 1
B) 3 2 1 4
) 1 2 4 3
(D) 3 1 2 4

(E) New Qaflwefevenso
Match List I with List II, and find the correct answer with the help of codes given below:
ListI ListII

a) Article 44 1. Provision for free and compulsory education for children

b) Article 45 2. Promotion of educational and economic interests of SCs, STs and other
weaker sections

c) Article 46 3. Uniform civil code for citizens

d) Article 47 4. Duty of the state to raise the level of nutrition and the stand ard of living

and to improve public health
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180.

181.

182.

@ b (© @

(A) 4 2 3 1
B) 3 2 1 4
© 1 2 4 3
(D) 3 1 2 4
(E) Answer not known

Qewwsg saudlw em GMUNILL CFwened 2 L emquns GFwws Gamfl BHwenpnd NpLi9s@n
Spemet. Qeueunenesst MpLilssiul L gin GOILNIL L geieieor &tlFwened 2 L euiquinsd Gleuiw
Ceusvvriquieugmlmmi.

(A) sy Qanewriedliy B0 Cuimenesst (B) Qeweomuss BH0 Guirmenewst

(O) sev_wymiss B0 GCupneneser (D) s@d Meey GBI Guirrenewst

(E) v Qzflwelevenso

The High court demands some activity on the party of the body or person to whom it is addressed, It
commands the person to whom it is addressed.

(A) Writ of Habeas Corpus (B) Writ of Mandamus
(C) Writ of Prohibition (D) Writ of Quo-Warranto
(E) Answer not known

BrHu GuraEs semevaul SPaHETTL 61hS eUTsHE epeold CaibosHss LG nmi?
(A) @ BUMSS Q@H aITHE) (B) uemenin euns s,

(C) QeusflliLenL_wnest euné@ (D) @hewm wrHm euns@

(E) v Qzflwelevenso

The Indian President is elected by which of the following voting systems?

(A) One man one vote (B) Plural voting
(C) Open Ballot (D) Single transferable vote
(E) Answer not known

SPSSHETIL NS ILBISED6T SHeu6vil.

a&nnl (A) :  Qrremieus g eurfluriser eww rdlen BlieutssSneE oL Ul L LGSHwnEb
smewid(R) : @rremieus s eunflumsst urgsriy Senwssssder Crrg Hiaurss
sl_(uur_iqes $p emeussLiL_(Derene.

Beupmien 6181 &l erevr Sionesllssab.

(A) (A) wppi> (R) Gren@id of (B) (A) wppi> (R) @reim®id> seup)

(©) (A) soumy spewmed (R) &l (D) (A) &l gpemmed (R) geun

(E) v Qzflwelevenso

Consider the following statements

Assertion (A): The cantonments are centrally administered areas

Reason (R): The cantonments are placed under the direct administrative control of the Ministry of
Defence,

Select your answer according to the coding scheme given below :

(A) Both (A) and (R) are true (B) Both (A) and (R) are false
(C) (A) is false but (R) is true (D) (A) is true but (R) is false
(E) Answer not known
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185.
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BSliyermieys@ LML L g 618?

(A) sigtiuenL 2 fenwsen

(B) @paliyeny

(C) ogliLenL sL_ena6T

(D) oras Qaretensullenen CpMIL LGSSID Cam_ur@aser
(E) New Qaflwefevenso

Which one is not subject to Judicial review?

(A) Fundamental Rights (B) Preamble
(C) Fundamental Duties (D) Directive Principle of State Policy
(E) Answer not known

SIHTS Qens LOHNID LTSHIL gD Sy Slenel WNHemLW SHreugdHler Carendlug ?

(A) ueveveuraen (B) wpmamev Cempiser
(C) Wpameo Gempigen (D) unessTiquifser

(E) ew Qaflwefevenso

Carnatic music and Bharatanatyam developed during ............... period.
(A) Pallavas (B) early Cholas

(C) later Cholas (D) Pandyas

(E) Answer not known

SlevneySe ezl iog) FeLd) TeSSELLT sTeTLITen] eIl Il wnhsE@ o Senw B H&0sTHSST?
(A) Sy umevsTiqWi6HT (B) &mgr unetsTiq.wiest

(C) ewpevrpmid LIMeELDTIGWI6HT (D) ey Limevoriq wiest

(E) eflev Qzfwellevenso

Alauddin Khilji’s commander Malik Kafur helped whom to ascend the throne ?

(A) Vira Pandya (B) Sundara Pandya
(C) Rajendra - 111 (D) Vikrama Pandya
(E) Answer not known
QuInmSais.
1. miwmpeumt a. uesesfl(mHS B (LPEOD
2. ubseSlyw b. seSmissgL1Liref
3. Geadlpni c. SmLiueveonsser(n
4. wwflwressrmi pLoLd d. ssswnsliLiTesn]
5. QUL 585 L|TIewsid e. HmSolGesorL_it
6. Gluibl&mevsTL_mit f. r5Slendlfl Beor
1 2 3 4 5 6
(A) ¢ f e a d b
B) e f s b a c
< d c a e b f
(D) e f a b d c

(E) New QzMwelevenso
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Match the following :
1. Nammalvar a. Panniruthirumurai
2. Srikaviraya b. Kalingathuparani
3. Sekizhar c. Thiruppallandu
4. Nambiandar Nambi d. Thakayagaparaji
5. Ottakkuthar e. Thiruttondar Puranam
6. Jeyamkondar f. Rathinagiri Ula
1 2 3 4 5 6
(A) c f e a d b
B) e f ] b a c
< d c a e b f
(D) e f a b d c
(E) Answer not known
187. CamnueoaEps@ CamenLwing eUPBISLILL L. STTDBIGET ................
(A) Geuevesteunens (B) #meoGunaid
(©) WrbwCrwIDd (D) Gaeugmeriid

(E) New Qzflwefevensv
.................. was the land gifted to temples.

(A) Vellanvagai (B) Shalabhoga
(C) Brahmadeya (D) Devadana
(E) Answer not known

188. ampm) | : utemp @GenL_eueny Carellenens QlFgis@D (WennuleSBHSI, HDSHmTs: Clanesi(h s (HLorews
Canellevaenens sl (P WLIHDOLD FHLL L 69 LIVEV6T SHme0 2 ewTigg S ng.
apml 11 : anegrflulled Beren emseonsmisi Gamulled Lieveveur smev semeoulen HApliysE HAnns

(D SZHISHTL_(HSHeNM&GLD.
(A) snpmy [ seupy (B) empmy I geumy
(©) GrewBio &l (D) Grevm®d> seum

(E) New Qzflwefevenso
Statement -1 : Pallava art shows transition from rock-cut monolithic structure to stone built temple.
Statement -1I : Kailasanatha temples at Kanchipuram is an example of Pallava are and architecture.

(A) Statement I is wrong (B) statement II is wrong
(C) Both are correct (D) Both are wrong
(E) Answer not known

189. sflwres elewLemws Caimbos®0H.
1. Alumiser sl wHMID sester Gwmfl Cuab LGSeows Carpbgeurser
ii. Geusorit Ly Sullesr Guingy, goment Slym_& Femevewio TremIeUSHTUSWITS BHBHS.
iii. @rremien eiriseprsE DHHu yrsisafl_BlmEha sTe] WOHMID 2 Fallamerl Gum

YPigwellevemev.

iv. gemeoliLnens Sjewflw LMISS ALLNLSEHSHE LIEwT SHevTLenes elHsslLL L g).
(A) i.1i (B) i.ii.iv

(C) i.ii. i (D) ii w @
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(E) v Qzflwelevenso

Find out the correct statement :

i. The sepoys were from both Tamil and Kannada speaking regions.

ii. John Cradock was the commander-in-chief during the Vellore revolt.
iii. The sepoys could get the support from the native rulers.

iv. Those sepoys who refused to wear the turban were put to death.

(A)1,ii (B) i, ii, iv
(O) 1, 1i, iii (D) only ii
(E) Answer not known

190. 65 Pudw wrble sre seg (Waeo srfzleeon Hflemer semasemnu oysav 13 ojem)
FM&5560 ClFuIgg?
(A) 2-55195Cx8D (B) Garyerm
(OF-TINLC) (D) Gone aurisd
(E) New Qzflwelevenso
Which Indian state government will present its first ever paperless budget on 13th August?

(A) Uttar Pradesh (B) Kerala
(C) Tamil Nadu (D) West Bengal
(E) Answer not known

191. 6 LIHe Srs Wwasener Colg. WHSFHIeUD S L Geng ClFm_midlusreng)?
(A) s0lpBIH (B) asipr_an
(C) Garyerm (D) symdlom
(E) New Qzflwelevenso
Which state government has launched the Makkalai Thedi Maruthuvam scheme?

(A) Tamil Nadu (B) Karnataka
(C) Kerala (D) Andhra Pradesh
(E) Answer not known

192. Caslw emagzn Sed ehg Cadluilenr senLiliyssiLGSng?
(A) 6 ymevL (B) 8 gymmeror
(C) 5 symmeroL (D)7 ymervo
(E) New Qaflwelevenso
National Handloom Day is observed on which date?

(A) 6th August (B) 8th August
(C) 5th August (D) 7th August
(E) Answer not known

193. @pdwreledmig @elbllsdneE s&F QuDD (PE6 Gluester wrIll wmi?
(A) spisd Leumi (B) ogevgn Caaed
(C) engern Ca.e110 (D) Crgrm @ wesrest
(E) New Qzflwelevenso
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Who is the first female sailor from India to qualify for the Olympics?

(A) Aarti Pawar (B) Aastha Sehgal
(C) Chandana KM (D) Nethra Kumanan
(E) Answer not known

194, Srdwuneded 61B5 Breafleo Coflw euiggaiser Seb sy ssiLGSHDE?
(A) 8 ymeror_ (B) 7 gymevi_
(C) 6 gymeivl_ (D) 9 syseroL
(E) New Qzflwelevenso
National Traders Day is observed in India on which date?

(A) 8th August (B) 7th August
(C) 6th August (D) 9th August
(E) Answer not known

195. 104 6165TLIG] «evenenvenenenes &aes 2 g6l e16vor
(A) Seflusg (B) ®phemgaen
(C) Quersmaear (D) 2_Levmevid
(E) New Qzflwefevenso
1041sa.cccccereerennen, helpline.
(A) Fire (B) Children
(C) Women (D) Helath
(E) Answer not known

196. sl S gdlest (THAI Scheme) Crrssid
(A) @sdrmomseafles euetisd (B) waliCumn 2 g6Ms S b
(C) afley Gueorestenio (D) @b eupri@seo
(E) New Qzflwelevenso
THAI scheme is a flagship programme for

(A) Village habitations improvement (B) Maternal Benefit\
(C) Waste management (D) Water supply
(E) Answer not known

197. Cadlw erpsadley S yemewssner HyweoLOSSIUL L anwgeubGsni ewpssdley S b

61817
(A) sp@ED LMsD (B) sp@w Spbgwn
(C) en@w umrs (D) ergiibleveme

(E) New Qaflweleveneo
Which is a Adult Literacy Programme implemented by National Literacy Mission Authority ?

(A) Karkum Bharatham (B) Learn India
(C) Learn Bharath (D) none
(E) Answer not known
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198. e WpoHleId Cauniul L seenwaamet GFriLuBOSS GDILLg
(A) pituib (B) sriBAmiyy
(C) @rievL gestemio (D) swoblestenio
(E) v Qzflwelevenso
What is the term used to denote the coexistence of two different features in an economy ?

(A) Technology (B) Dependency
(C) Dualism (D) Inequality
(E) Answer not known

199. Coemeus@ idlawns Geuemeouled FHLGIWL wasafles Hlenevenio
(A) Geusmeoulsttenio (B) wespups Ceusmeoulestenio
(©) wppCeuemev (D) swGeusmen
(E) New Qzflwelevenso
How do you erm people employed in excess and above the requirements ?

(A) unemployment (B) underemployment or Disguised unemployment
(C) Full employment (D) Self employment
(E) Answer not known
200. 26118 GSMHMHEFTENEVSEHTEST 2 FTTESID &(H.
(A) sissemT Lem050SMH6D (B) umis swurflé@w Ggmfled
(C) flQwesr Qzmipled (D) andflgs Qgmpleo

(E) New Qg flwedevenso
Identify an example for rural industries ?

(A) Sugar factory (B) Mat making industry
(C) Cement industry (D) Paper industry
(E) Answer not known
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